Note: *If an arithmetic error is made but all of the steps for a correct code are shown, the answer is given full credit and coded as correct.

	Code
	Description
	Examples

	Correct Codes
	
	

	EQ

Equalizer
	Student sets the two sides up as equal in order to solve the problem.  Student may add up the left (or right depending on where the blank is) side of the equation and then figure out what number goes in the blank.   Also, may rewrite the problem with the correct answer in the blank.  T/here is clear understanding that the two sides must be equal
	Rewrites with answer:

4 + 5 + 8 = 9 + 8

Adds up one side and shows other equal:

14 = 7 + 7

Shows both sides equal the same:

6 + 3 + 5 = 14   9 + 5 = 14

Shows equality:

5 + 7 + 3 = 15 = 11 + 4

	AS

Add-Subtract
	Adds the left (or right depending on where the blank is) side of the equation and then subtracts the number on the other side of the equation in order to figure out what number to put in the blank. 


	4 + 5 + 8 = 17 – 8 = 9

for a problem like 7 + 3 + 4 = 7 + _

 7     14   

+3      -7

+4       7

14

*Okay if arithmetic error is made:

6+3+5=15-9=4

*if ONLY addition is shown (5+7+3=15) this is not AS, but NW

	GR

Correct

Grouping
	Student realizes that a number is repeated on both sides of the equation and just adds up the other numbers to find the answer.  (May just show addition of the two numbers).

-Must be the correct numbers added together.

-May possibly circle the two numbers that he/she added.

-Incorrect grouping goes in I (incorrect) category.
	
4 + 5 + 8 = 9 + 8

For a problem like 9 + 3 + 4 = 9 + _

3 + 4 = 7  gets a grouping code

	NW
Insufficient Work
	The answer is correct. Either no work or partial work is shown, or the work that is shown is ambiguous.  If the child only shows addition of one sided of the equation, this cannot be assumed that he/she has done AS.  Instead NW is the correct code.
	Shows only addition:

4 + 5 + 8 = 17 (puts the correct answer in the blank)

Shows no work but puts correct answer in blank

Ambiguous work is shown and correct answer is put in blank.


	Code
	Description
	Examples

	
	
	

	Incorrect Codes
	*remember, sometimes incorrect answers reflect correct strategies when there are clear arithmetic errors.  In these cases, items should receive one of the correct strategy codes above.
	

	AA

Add All
	Student has added all the numbers in the problem and put the sum in the blank.  Can infer a student’s use of AA, even if no work is shown.
	4 + 5 + 8 = 25 + 8

	AE

Add to Equals Sign
	Student has added all the numbers before the equals sign and put the sum in the blank.  Can infer a student’s use of AE, even if no work is shown.
	4 + 5 + 8 = 17 + 8

6 + 3 + 9 = 9 + 5



	CA

Carry
	Student has carried a number from one side of the equals sign to the blank on the other side of the equals sign.
	4 + 5 + 8 = 4 + 8

(5 or 8 could also appear in the blank)

	OI

Other Incorrect
	Student has used an incorrect strategy not listed above, or no strategy is apparent, and if no work is shown, but there is an answer in the box.  Also use OI if there is no work but the answer is close to what it would be if the student used AA or AE—can’t infer without work and incorrect number.
	4 + 5 + 8 = 150 + 8

	b

Blank
	Blank answer, no work shown.
	


